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compulsory.

"(2) - Attempt any three questions from No. 1 to 5 from Sectien I and attempt.

: any three questions from question No. 7 to 11 from Section IL
- (3) Figures to the right indicate full marks.
(4) Both sections should be written in the same answer book

Section [

. Discuss the violation of Women's Rights.
. Explain various effects of Natural Disaster on human life.

. Describe the contribution of Science and Technology in the progress of human

Society.

- Elaborate the causes of Environmental Degradation.

What are the obstacles of free and compulsory education in India ?

Write short notes on any twe —
(a) Barriers of Communication (d) Leadership Qualities
(b) Right to Health : (e) Climate Change.
(c¢) Water Pollution
Section II

Explain the meaning and objectives of Consumer Protection Act 1986.

. What is Motivation ? Briefly discuss Prof. Maslow's Theory of Motivation.

What is Goal Setting ? Discuss Types of Goal Setting.

- Describe the meaning and application of Nano Technology ?
. What are the advantages and disadvantages of Sonography ?

. Write .short notes on any two —

(a) Space Technology ' (d) Sustainable Development '
' (b) Public Interest Litigation (PIL) (e) Mc Gregor's Theory X and
- (c) Laser Technology . Theory Y.
- - [ TURNOVER
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Con. 146-19.
(3 Hours) [Total Marks : 100
" N.B. : (1) Question No. 6 from Section I and Question No. 12 from Section II are
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N.B. (1) Al the questions are compuzHEsory.
. .- (2). Figares to the right indicates full marks.
(3) Tie both the section tegethe-r.
Section - I
‘1. Explain the following terms (Any Fi-ve): | , 10
(a) Service Advertising : (f) Clutter _
{(b) Marketing Mix . _ (g) Promotion Research
(¢c) Target Audience (h) Media research
(d) ABC ‘ (i) Consumer behaviour
(e) Transit Advertising . (i3 TRP
2. Answer the following (Any Three): 30

(a) Explain the concept of advextising. State it's pecularities.

(b) Explain advantages and limi tation of newspaper as a medium of advertising.
(c) Suggest how different kinds of waste in advertising can be minimized.

(d) Discuss the services rendere=d by advertising agency. '

(e) Explain the inter-relationshijo between advertising and standard of living.

(f) Explain the career option av ailable in advertising field.

3. Write short notes on (Any Two): 10
(a) Demerits of Internet advertissing. '
(b) Imtegrated Marketing commuanication
(¢) Unethical advertising -
(d) Active participants in adverising.

Section — I

4. Explain the following terms (Any Five) : : 10
(a) Advertising appeal
(b) Digital media
(¢) Window display
(d) Buying motives
(e) Selling points
(f)  Persuasion
(g) Visualization

© (h) ~AIDA formula
(i) Hlustration
(j) Website.
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5. Answer the following (Any Three):
(a) Explain the steps in planning of advertising campaign.
(b) Discuss the-concept and importance of creativity in advertising.
(¢} Explain the different types of appeals.
(d) Explain the importance of illustrations in advertising.
(e) - Explain the elements of a good copy in advertising.

6. Write short notes on (Any Two):
(a) Doordarshan Code (¢) SLOGAN
(b) DAGMAR Model " (d) Pre-testing method of advertising.
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N.B. (1) Attempt any five questions.
(2) Figures to the right indicate full marks.

(¢) Dividend

o1

P

(3 Hours) : {Total Marks : 100

1. (a) .Who is a company secretary? What is the qualification for appointment? 16
L (b) ‘Describe in detail the application documents requn'ed to be filled with registrar 10
of companies while reglstratmn
2. (a) Discuss in brief the clauses of Memorandum of Association. 10 .
-~ - (b) Explain the duties of a company secretary towards the company and the public. 10
‘3. {a) Discus in detail ‘Table A’ _ 10
- (b) What is an extra-ordinary meeting ? Who calls it? Explain its nature. - 10
4. (a) 'What is equity share? Distingnish between Forfeiture and surrender of shares. 10
“(b) Who are Company Directors ? On what basis can they be disqualified? 16
5. () How can membership of a company be acquired? 10
~ (b) What are resolutions? Explain its types. 10
6. (a) What are the sources of capital of Joint Stock Company? 10
(b} Describe the powers and duties of an Auditor of a company. 10
7. (a) Define Quorum. What are the statutory conditions regarding Quorum? 10 -
(b) What is Prospectus? Explain the contents of Prospectus. 10 “
8. (a) Explain the duties and powers of the chairman of a compény meeting. 16
(b) What is Proxy? Explain the legal provision relaied to proxy. 10
9. Draft Specimen of any twe of the following : _ 20
{a) Notice of Annual general meeting (c) D1V1dend warrant
(b) Form of proxy ' (d) Letter of allotiment
10 Wnte short notes on any four of the following : ' 20

(a) - Joint stock company
(b) Share certificate

(d} Prospectus
(e} Lien on shares
(H Voting

[TURN OVER
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(3 Hours) [Total Marks : 100

N.B. : (1) Attempt all questions.
' (2) Figures to the right indicate full marks.
(3) Write the answer of both the sections in one answer book.

Section I
‘1. Explain the following terms {any five) :— ' | 16
(a) Contract (e) Contingent goods
(b) Fraud (f) Sub-agent
(c) Guarantee (g) Cheque
(d) Bailment {h) Warranty.
2. Answer any three from the following — 30

(a) Explain the essential elements of a valid contract.

(b) What is free consent ? Explain the concept of co-ercion.

(¢) Explain in brief various kinds of an agent.

(d) Distinguish between contract of indemnity & contract of guarantee.
(e) What is contract of sale ? Explain its salient features.

(f) Explain essential elements of Bill of Exchange.

3. Write short notes on any two (— 10
{a) Void agreement " (¢) E-contract
(b) Unpaid seller (d) Endorsement.
Sectien II
4. Explain the following terms any five :— 10
(a) Prospectus (e) Patent
(b) Foreign Company (f) Trade Mark
(¢) Particular Partnerhship (g) Appeal
(d} Minor partner (h) Complaint.
5. Answer any three of the following :— 30
(a) Briefly explain various kinds of companies under Company's Act, 2013,
{b): Explain the meaning-& elauses of Memorandum of Association.
(¢) Distinguish between a Partnership and a Company.
-{d) Explain in brief various functions of Security Exchang Board of India (SEBI). -
(e) Discuss.the power of National Company Law Tribunal (NCLT).
() Explain thie composition. & jurisdiction of District Forum for Consumer
Protection. |
6. Write short notes (any twe) :— _ 10
(a) Lifting of corporate veil (c) Types of partners
(b) - Articles of Association - {(d) Unfair Trade Practices.
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N.B. (1) Question No. 1 and 6 are compulsory.
(2) Attempt any two questions from the remaining question from each section.

(3) Figures to the right indicates full marks.

E Section-I
1. (a) Explain briefly the following concepts (any four) : ' 10
' - (i) National income (iv) Liquidity trap
(ii) Accelerator - (v) Super multiplier
(ili) Demand formoney  (vi) Profitability aspect of a commercial bank
(b) Distinguish between (any two) : ' 8
(i) Aggregate demand and Aggregate supply
(ii) Demand pull inflation and Cost push inflation
(iii) IS curve and LM curve. -
2. (a) Explain the circular flow of national income in a two sector closed economy. 8
(b) Explain the working of investment multiplier. 8
3.. (a) Explain the meaning and functions of money. 8
(b) Discuss the various causes of inflation. . _ 8
4 (a) Explain the assets and liabilities of a commercial bank. -8
(b) Explain the meaning and objectives of monetary policy. 8
5. Write notes on (any two) : | - 16
(a) Features of business cycle ‘
(b) -_Detcnninénts of velocity of circulation of money
. (¢). . Liquidity Preference Theory of interest -
(d) Measures to control inflation.
, | - Section II
6. (a) Explain briefly the following concepts (any four) : 10
(i) Disinvestment ’ . (iv) Public distribution system .
(ii) Rural unemployment inIndia  (v) Public sector banks
(ili) Small scale industry (vi) NPAs
(b) Distinguish between (any two) : o : B 8
(i) Primary education and Higher education
(ii) Industry and service sector
(iii) MRTP and Competition Act.
7. (2) Explain the features of New Industrial Policy 1991. R 3
(b) Discuss the Human development through health. -~~~ = 8




P4-Exam.-2018-1-305 - : ) A

‘:Cen 144 DW—-7955_19. g

w8,

10,

ﬂiﬁT () We . qagaﬁaﬁaﬁa

-(a) - “What are the causes of low agricultural productivity in India ?

(b) Discuss the measures initiated to promote small scale sector after 1991,

(a) Explam the impact of bankmg sector reforms in India.
(b) Discuss the deveiopment functions of RBI.

Write notes on (any two) :
(a) Changes in the occupatlonal structure of Indian economy
(b) Employment generation programmes in India
- (¢) New Agricultural Policy, 2000 .
(dy Performancc of commercial banks since 1991.
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“N.B. : (1) All questions are compulsory.
(2) Figures to the right indicate full marks. (assigned to the question)
(3) Write both the sections in same answerbook.

Section 1

1. Answer any two questions from the following — 16
(a) Explain various principles of Management.
(b) Write a note on Managerial Skills.
(c¢) Explain factors affecting Span of Control.
(d) Explain various essentials of Decision Making.

- 2. Answer any two questions from the following — 16
(a) Explain in brief different types of Organisations.

(b) Write a note on Matrix Organisation.

(¢) Explain the scope for Corporate Social Responsibility.

(d) Discuss in brief various principles of effective delegation.

3. Write short notes on any three of the following :— i8
(a) Functions of Management

(b) Need for MIS

(c) MBO

(d) Formal Organisation

(e) Causes of Stress

(f) Components of Planning.

[ TURNOVER
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Section 1

4. Answer any twe of the following questions :—
(a)‘ Explain factors influencing productivity.
(b) Discuss in brief features of Six Sigma.
(¢) Discuss different steps in Production Planning and Control.
(d) State and explain methods of Inventory control system.

5. Answer any two of the following questions :—
(a) Discuss the structure of Financial Management.
(b) Write a note on Mutual funds.
(¢} Explain in brief the process of Quality circle.
(d) Discuss the role of CRISIL.

6. Write short notes on any three of the following :—
 (a) Functions of Stock Exchange
(b) Quality Control Techniques
(c) Venture Capital
(d) Participants in Derivative Market
(¢) Objectives of Production Planning & Control
(f) Functions of SEBI.

16

16

18
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N.B. : (1) All questions are compulsory.
" (2) Figures to the right indicates full marks.
-(3) . Working notes should form the part of your answer.

Section I

1. Followingis the Trial Balance of PQ & Company. Prepare Trading and Profit & Loss 18
- A/c for the year ended 315t March 2019 and Balance Sheet as -on that date :
Trial Balance as on 315 March, 2019

Particulars ' T | Particulars T
Purchases 1,96,000 | Capitals:
Patents Rights 8,000 | P 60,000
Building 2,00,000 | Q 80,000
Stock (1.4.2018) 30,000 | Bills Payable , 14,000
Printing and Stationery 3,500 | Creditors 90,000
Sundry Debtors 70,000 | Bank Loan 24,000
Wages 22,000 | Sales 3,16,000
~ Audit fees 1,400 | RDD 500
Sundry expenées 7,000 | Purchase Return 7,000
Furniture 16,000
Investment 20,000
Cash 8,000
Audit Fees 1,600
Carriage inward 2,600
General Expenses 5,400
| 5,91,500 5,91,500
. Adjustments:

1. Closing Stock was valued at ¥ 30,000.

. On 315t March, 2019 stock of stationery was ¥ 1 ,000.

. Provide Reserve for Doubtful Debis @ 5% on Debtors.

. Depreciate Building @ 5% and Patents @ 10%.

. Goods of ¥ 20,000 were destroyed by fire. The insurance comparny admitted a
claim for T 16,000. o | |

6. Partners share profit equally. | . : [ TURN OVER
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- 2. (a) State whether the following statements are True or False :(— _ 8
(1) R.D.D is provided on Debtors.
(2) Goodwill is an intangible asset of the business.

(3) Dissolution of partnership firm means complete closure of partnership
business.

(4) In tally, to select a company we press Fl function key.

(5) Profit & Loss Adjustment Alc is also known as Revaluation Alc.

(6) AS-11 deals with amalgamation.

(7) Return inward is deducted from purchases.

(8) Goods distributed as free sample should be credited to Profit & Loss Alc.

N R T T O T B P

(b) Fill in the blanks :— — 8
(1)  Thebalance in capital account remains constant under ........... capttal method.
(2) Fire insurance covers risk of loss due to .......... .
3) Im.... distribution of cash statement realization expenses are paid first.
(4) Royalty on production is debited to ......... account. '
(5) Increase in value of assets should be ......... to Profit & Loss Adjustment A/c.
(6) Excess Capital method isused in .................. distribution of cash.

(7) On amalgamation, old firms are e .
(8) Gross profit is transferred to ............... .

3. The firm of Trinity is presented to you with the following Balance Sheet drawn as at 16
315t March 2018. '

Liabilities : ¥ | Assets ' 4
‘Sundry Creditors 37,600 | Cash on hand ‘ 3,000
Partners' Capital A/c: { Sundry Debtors 34,000
-1 , 40,000 | Stock in trade 39,000
-K 30,000 | Plant and Machinery 51,000

-S - - " 27,000 [ CurrentA/c: _
-K 4,000
-8 -1 3,000
1,34,000 1,34,000
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Partners shared profit and losses in the ratio of 4 : 3 = 3. Due to differences among

the Partners, it was decided to wind up the firm, realize the assets and distribute the
- cash among the Partners at the end of each month. |

The following realizations were made.

1. May, 2018 - T 15,000 from Debtors and ¥ 20,000 by sale of Stock. Expenses

~on realisation were T 500.

2. June, 2018 - Balance of Debtors realized T 10,000. Balance of Stock fetched
T 24,000,

3. August, 2018 - Part of Machinery was sold for ¥ 18,000. Expenses incidental
to sale were T 600.

4. September, 2018 Part of machinery value in the books at ¥ 5,000 was taken
by I in part discharge at an agreed value of ¥ 10,000. Balance of Machinery
was sold for ¥ 30,000 (Net). Partners decided to keep minimum cash balance
of T 2,000 in the first 3 months and ¥ 1,000 thereafter.

You are required to prepare:

1. Statement of Excess Capital

2. Show the statement of distribution of cash.

OR ‘

. A and B are partners of AB & Co. sharing profits and losses in the ratio of 2 : T and
C and D are partners of CD & Co. sharing profit and losses in the ratio of 3 : 2 on
01.04.2018 they decided to amalgamate and form a new firm M/s AD & Co. wherein
all the partners of both the firm would be partners sharing profit and losses in the ratio
of 2:1:3:2respectivelyto A, B, C & D.

Their Balance Sheet on that datg were as under

Liabilities | AB & Co. CD& | Assets AB &Co. Ché&
| Co® | @) | Co. ®

Capitals Building 75,000 [ 90,000
-A : 150,000 | = = -| Machinery 1,20,000 | 1,00,000
-B 1,00,000 ' - | Furniture | 15,000 | 12,000
-C -1 1,20,000 | Stock - 24,000 | 36,000
-D. - -] . 80,000 | Debtors 65,000 | 78,000
Reserve 66,000 54,000 | Due from CD & Co| 47,000 . -
Creditors- 52,000 | 35,000 | CashandBank 18,000 | 15,000
Dueto AB & Co - 47,000 | Cashinhand 4,000 5,000
: | 368,000 | 336000 - . - |3,68000 |3,36,000
[ TURN OVER
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- The amalgamation firm took the business on the following terms.

1. Building was taken at ¥ 1,00,000 and ¥ 1,25,000.0f AB & Co. and CD & Co.

respectively. And Machinery was taken over at ¥ 1,25,000 and ¥ 1,10,000 of
AB & Co. and CD & Co. respectively.

2. Goodwill of AB-& Co. was worth ¥ 75,000 and. that of CD & Co. worth
' ¥ 50,000. Goodwill account was not to be opened in the books of the new firm,
* the adjustments being recorded through capital accounts of the Partners.

3. Provisions [or doubtful debts have to be carried forward at T 5,000 in respect
of debtors of AB & Co. and ¥ 8 ,000 in respect of CD & Co.

You are required to prepare :
1.  Prepare purchases consideration.
2. Pass the Journal Entries in the books of AD & Co.

Section IT

4. A fire occurred in the premises of XYZ Ltd on 15t September 2018; and stock of value

¥ 1,01,000 was salvaged. The books and record were salvaged from which the following
particulars were ascertaimned

Particulars | 4
Purchase for the year ended 31-03- 2018 | 7,060,000
Sales for the year ended 31-03 - 2018 11,600,000
Purchase for the period 1.4.2018 to 1.9.2018 ' 2,40,000
Sales for the period 1.4.2018 to 1.9.2018 3,60,000
Stock on 31 st March 2017 3,00,000 |
Stock on 31 st March 2018 3,40,000

Calculate the amount of the claim to be represented to the insurance company In respect
of losses. Rate of Gross Profit based on the year ended 31-03-2018

%
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5. (a) State whether the following state statements arc True or False :— 8

(1) Partly paid preference shares cannot be redeemed.
(2) Salvage is the value of goods saved from fire.

~ (3) CRR = Amount payable to preference shareholder - fresh issue.

. (4) Capital redemption reserve is used for payment of dividend.
(5) CTRL + B to select the budget.
(6) A company should create debenture redemption reserve.
(7) Memorandum Trading A/c is always prepared for one year period.
(8) Sales A/c is ascertained from Sales Day Book.

(b) Fill in the blanks with suitable option given below :— 8

(1) Gross profit ratio is applied to sales in the A/c. to calculate
balancing figure of closing stock. -

(a) Memorandum Trading A/c., (b) Trading, (c) Profit & Loss A/c.
(2) Sinking Fund for redemption is created out of
(a) Current year's profit (b) Capital ( c) Capital reserve.
(3) The feature in tally to analyze account of a company is _______
(a) Ratio Analysis (b) Transaction Analysis (c) Data Analysis
(4) Average clause in an insurance policy applies in case of ____
(a) Under insurance (b) Over insurance (c) life insurance
(5) Profit on forfeiture of redeemable preference shares is creditedto
{(a) Capital Reserve AJc. (b) Profit & Loss A/c. (c) General Reserve Alc.

(6) Sales T 2,00,000; Purchase ¥ 1 ,30,000; wages ¥ 18,000; Closing Stock
T 22,000; Opening stock T 20,000, What is the Rate of Gross Profit ?

(a) 27% (b) 25% (c) 30%
(7) Balance of capital redemption reserve Alc. is shown in balance sheet
liabilities side under
(2) Reserve & Surplus (b) Share Capital (c) Secured Loan
(8) Dividend is calculated on preference share capital on ___
~ .(a) Paid up value (b) Market Value (¢) Face Value

[ TURN OVER
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| § 6. Iswara Ltd. has an issued Share Capital of 650, 7% Redeemable Preference Share of 16

¥ 100 each and % 4,500 Equity Shares of ¥ 50 each. The Preference Shares are
. redeemable at-a premium.of 7.5% on 15t April, 2019.

The Company's Balance Sheet as on 31.03.2019 was as follows:-

| _Liabilities T Assets T
Share Capital . .| Fixed Assets | 3,45,000
650 7% Redeemable Pref. Shares | Investment 18,500
of ¥ 100 each fully paid 65,000 | Balance at Bank 31,000
g 4,500 Bquity Shares of 50 |
each fully paid 2,25,000
Profit and Loss A/c 48,000
8 Sundry Creditors 56,500

3,94,500° 3,94,500

In order to facilitate the redemption of the Preference Shares, the Company decided :
1. To sell all the investment for ¥ 16,000,

2. To finance part of the redemption from company funds, subject to a balance
of ¥ 12,000 in the Profit and Loss A/c.

3. To issue sufficient Equity Shares of T 50 each at a premium of ¥ 13 per share
to raise the balance of Funds required.

The Preference Shares were redeemed on the due date and the issue of Equity Shares
was fully subscribed.

1. Passed the necessary Journal Entries to record the above transaction.

2. Prepare the Balance Sheet after redemption.

OR
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6. LML Ltd. gave notice of its intention to redeem its outstanding T 50,000, 8% debenture
at T 105 (nominal value ¥ 100) and offered the following options to the holders :

(a) 11% preference share of T 40/- each at T 50 per share.

(b) 10% debenture at ¥ 100 (at par)

(c) To .hav¢ their holdings redeemed for cash (assume redemption out profit only)
(i) The holders of ¥ 18,000 debenture accepted option (a)
(ii) The holders of Z 20,000 debenture accepted option (b)

(iii) The remaining debenture holders accepted option (¢}

Pass the necessary journal entries in the books of LML Ltd.

e i e e o L e TP

16
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< N.B. : ¢1) - All Questions are compulsory.
(2) Figures to the right indicate full marks.

Section I -

1. Answer any two questions from the following -— : 20
- {a) Explain the features of business.
(b) Explain the economic objectives of the Business.
(¢) Describe the impact of Globalization in detail.
(d) Discuss the factors of external business environment.

2. Answer any two questions from the following :— ' 20
(2) Describe the Positive impacts of Trading Blocks.
(b) Discuss the problems faced by the women enirepreneurs in India.
(c) Discuss the types of Feasibility study.
(d) Explain the importance of enirepreneurship.

3. Write short notes (any two) :(— 10
{a) Contents of Project report

(b) Human objectives of Business

(¢) Turnaround Strategy

(d) Qualities of Entrepreneut.

Section II

4. Answer any two questions from the following :— ' 20
(a) Explain the classification of Services. : B
(b) Explain the factors responsible for the growth of organized retailing in India.
(¢) Discuss the various opportunities available in the service sector.
(d) Explain the detail the stores based retail formats operating in India.

5. Answer any two questions from the following ‘— _ 20
(a) Discuss the advantages and disadvantages of Debit card. '
(b) Write a detailed note on Foreign Direct Investment.
(c) Discuss the elements of Logistics.
(d) Enlist the types of E-Commerce and explain the B2B type of E-commerce. L

6. Write short notes (any two) :— i0
(a) Objectives of BPO -~ =+ - (¢} Online Marketing research
(b) Advantages of ATM - (d) Importance of E-commerce.
""""""""" | B -~ [TURNOVER
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